SAVILLARTEC Mopeno arperarta: SB501 (beHsonuna 2,0 kBt /2,7 n.c. 49,8 cm3)
SB551 (beHsonuna 2,2 kBt /3,0 n.c. 54,5 cm3)

KOoHCTpYyKTHUB.

Yo)e




0 n.c. 51,8 cm3)

14

,0 KBT /4

VA VILLARTEC Moaensb arperata: SB581 (BeHsonuna 3

KOHCTpYKTUB.

Y/ 7 ‘ ~
\ % a 9 ‘O,,um.J
oL = =




VILLARTEC

Mopenb arperarta: SB501 (bensonuna 2,0 kBT /2,7 n.c. 49,8 cm3)
SB551 (ben3onuna 2,2 kBt /3,0 n.c. 54,5 cm3)

KOHCTpYyKTMB.
CHucok 3anmacHbIX Yyacreu
Ne Io3. APTHKYJI 1e TATU HaumeHoBaHme KoJa-Bo
1 5020105001 I"atika M5 SB501/551 2
2 4006003101 Buar rimynmmmrenst SB501/551 1
3 5010605121 [Imanpka roymmrens M5x12 SB501/551 7
4.1 400600105 ['mymmrens (46/52) SB501 1
4.2 4006001206 ['mymmarens (58) SB551 1
5.1 4019003102 [Tpoknanka riaymmrens SB501 1
5.2 49E+11 [Tpoxnanka rioymmrenst SB551 1
6 5011605871 [Imwieka - BuAT DrymmTesast M5x87 SB501/551 2
7 5010705221 Bunr mmmmnpa M5x22 SB501/551 4
8.1 4002001104 Huwmsap 43mm 1
8.2 4002001105 Hmwmaap 45mm SB501 1
8.3 4002001106 Hwmnap 45.2mm SB551 1
9 4009004105 Cgeua L7T 1
10 4019004101 [Tpoxmanka xonena SB501/551 1
11 4005002303 Koneno SB501/551 1
12 4005004101 ['mip3a komena 16 SB501/551 1
13 4019002102 ITpoknmanka mmHapa SB501/551 1
14 4004004116 CTonopHoe KOJIBIIO MOPITHEBOTro naybiia SB501/551 2
15.1 4004003115 ITopmreBoit nastert 11x34 SB501/551 1
15.2 4004003116 [Toprmesoit manerr 11x35.5 SB501/551 1
16.1 400405102 [TpocraBounsie maiosr 18x2.5 SB501/551 2
16.2 4004005101 [TpoctaBounblie maiosr 19x3.1 2
17.1 4004002109 [TopuHeBbie komblia 43MM 2
17.2 4004002103 ITopuseBsie konblia 45Mm SB501 2
17.3 4004002104 [TopuHeBbie komblia 45.2mm SBS551 2
18.1 4004001324 [Topmenp 43MMm 1
18.2 4004001322 [Toprmens 45Mm SB501 1
18.3 4004001323 [Topmens 45.2mm SB551 1
19 5080811121 HUronpuateni noqummauk 11x15x12.5 SB501/551 1
20.1 4003001204 Konenuatsiii Ban SB501 1
20.2 4003001205 Konenuarsriii Ban SB551 1
21 5060103101 [nonka 3.0x3.7x10 SB501/551 1
22 5010604151 Bunt macnanacoca M14x15 SB501/551 2
23 4014005102 [TaTpybok macmanacoca SB501/551 1
24 4014001211 Macnonacoc SB501/551 1
25 4014016102 Brynka SB501/551 1
26 4014004102 [Irynep SB501/551 1
27 4014002202 Macsasnii dmwstp SB501/551 1
28 5010604061 Buntr M4x6 SB501/551 3




Mopenb arperarta: SB501 (benzonuna 2,0 kBTt /2,7 n.c. 49,8 cm3)

VILLARTEC SB551 (BeHsonuna 2,2 kBt /3,0 n.c. 54,5 cM3)
KoHcTpykTHUB.
29 4014008101 MacnsiHast HanpasJsitonias wiactuda SB501/551 1
30 3001046101 Cronp3smas wianka SB501/551 2
31 5030308261 [Imuprka M8x26 SB501/551 2
32 5011605141 [mumka M5x14 SB501/551 1
33 3001064104 3ammrHas IacTHUHA KJlanaHa MacyieHoro 6aka SB501/551 |
34 5010548162 Buar 4.8x16 SB501/551 9
35 3001064103 Kombro SB501/551 1
36 4013001103 bydep SB501/551 1
37 4014015101 CronopHoe konbiio SB501/551 1
38 4014016101 Kppimka camyna SB501/551 1
39 4014010101 Knaman macnienoro 6aka camyn SB501/551 1
40 4010002102 KpecroBuna mydrs criemmrenns SB501/551 1
41 4010001102 ["py3uxu mydrol cuermenust SB501/551 3
42 4010003102 [TpyxwHa mydrsI criermennss SB501/551 1
43 4010005102 [ITait6a SB501/551 1
44 5080812151 HNrompyareit nogmmmEuk 12x15x15 SB501/551 1
45 4010004314 Yamka criermienns SB501/551 1
46.1 4010007108 Cwmennplii BeHerr 325-7 (46/52) SB501/551 1
46.2 4010007109 Cwmennnbiii Benety 3/8-7 (58) SB501/551 1
47 4014006302 UYepesik macioracoca SB501/551 1
48 5010604101 Buntr SB501/551 3
49 4014002301 Kpeimka nonosuaku kaprepa SB501/551 1
50 5090215281 Canpauk 15x28x5 SB501/551 1
51 5080115351 [Mommmmamk 6202 SB501/551 2
52 4013002113 Jemndep npoccenpHoit 3acaonku SB501/551 1
53 4001004119 Kaprep mpasiit SB501/551 1
54 4008004101 Hanpasmsitonast Tsiru Bo3ayiHoit 3aciaonku SB501/551 1
55 3001034308 Tsara Bo3aymmHoi 3aciaonku SB501/551 1
56 4005015102 [Tnactuna SB501/551 1
57 5010405141 Bunr M5x14 SB501/551 2
58 4005019102 ®dnanen kaporopaTopa SB501/551 1
59 4005015101 [Tpoknaaka kaporopaTopa SB501/551 1
60 4019005101 Omnanen koseHa SB501/551 |
60.1 4017001323 Kap6ropatop ZP219 SB501 1
61.2 4017001324 KapOropatop ZP152 SB551 |
62 5010705501 Bunr M5x50 SB501/551 2
63 3001035305 Bosnyxonanpasistonias mwiactusaa SB501/551 |
64 4005014101 Hemmndep SB501/551 1
65 3005014101 Bunr 6apamex SB501/551 1
66 5110220201 IM'msza 20x2.0 SB501/551 1
67 4005001208 Bozaymmneiii duwistp SB501/551 |
69 3001064105 3arnymka amoprmaropa SB501/551 5
70 4013002110 Awmoptmatop SB501/551 3
71 4018002108 [Teine3amurabIii 3kpan SB501/551 1




Mopenb arperarta: SB501 (benzonuna 2,0 kBTt /2,7 n.c. 49,8 cm3)

VILLARTEC SB551 (BeHsonuna 2,2 kBt /3,0 n.c. 54,5 cM3)
KoHcTpykTHUB.

72 5070235001 CronopHoe kobio 35 SB501/551 1
73 5090215351 [Tait6a 15x35x4.5 SB501/551 1
74 4018008101 3anmra camauka jesoro SB501/551 1
75 4018002101 Hanpapns6mas nesast SB501/551 1
76 4001005102 Bunr 6x9 SB501/551 2
77 4019001102 ITpoknanka kaprepa SB501/551 1
78 4007005104 Xomyt 5.7 SB501/551 2
79 4007004103 Bakyymnas tpyoka SB501/551 1
80 4007006301 Coenunenre Tpyo SB501/551 1
81 4001002118 ITonoBuHka kaprepa neBast SB501/551 1
82 4009007102 Caeunoii kommauek SB501/551 1
83 4009002327 Monyinb 3axuranus SB501/551 1
84 4009003111 ITpoBox SB501/551 1
85 5010705201 Buntr M5x20 SB501/551 2
86 4014009101 [Tpoknagka npooku maciobaka SB501/551 1
87 3001025202 Kppimka macisHoro 6aka B coope SB501/551 1
88 5010605251 Bunr M5x25 SB501/551 5
89 5021008011 ["atika M8x1 SB501/551 1
90 3002002501 ITpo6ka macnobaka SB501/551 1
91 4009001208 Maxosuk SB501/551 1
92 5011606001 Bunr ¢ Oyprukom SB501/551 2
93 4012005106 Cobauka SB501/551 2
94 4012006106 [Tpyxwna co6auku SB501/551 2
95 4007008101 Baxyymnast sanpasstromas SB501/551 1
121 3001020102 Kypoxk raza SB501/551 1
122 4008002103 JlpoccenpHas npyxuHa SB501/551 1
123 3001010127 Kppimka Bo3aymHoro guwistpa SB501/551 1
124 5010405141 Buar M5x14 SB501/551 6
125 3001009115 Koxyx SB501/551 1
126 4018002104 Hamnpagmsitorast SB501/551 1
127 3001019108 Pykositka SB501/551 1
128 4018004102 W3omsamust w3 domeru SB501/551 1
129 3001014102 Cerment Benrwiatopa SB501/551 1
130 4008003102 Tsra SB501/551 1
131 5050105161 [aitba 5x?16x1 SB501/551 1
132 4012015102 [xms SB501/551 1
133 4012001302 Kppimika npyxunast SB501/551 1
134 4012001111 [IpyxwuHa ctaprepa SB501/551 1
135 5011305141 Bunr M5x14 SB501/551 1
136 3001013338 Kopmyc craprepa SB501/551 1
137 3001024107 Pyuka craprpera SB501/551 1
138 4012003102 [ayp cTaprepa 3x900 SB501/551 1
139 3001021112 Cronopsbiii peryar SB501/551 1
140 4011002101 [Tpyxuna Topmasza SB501/551 1




Mopenb arperarta: SB501 (benzonuna 2,0 kBTt /2,7 n.c. 49,8 cm3)

VILLARTEC SB551 (BeHsonuna 2,2 kBt /3,0 n.c. 54,5 cM3)
KoHcTpykTHUB.

141 4011004108 Hepxatenb npyxunbl Topmaza SB501/551 1
142 4011001102 [Tpy>xura SB501/551 1
143 4011014105 [Tanerr SB501/551 1
144 4011004106 Pwraar npyxuner Topmasza SB501/551 1
145 4011004107 Pwruar SB501/551 1
146 4015002102 Bunr satsoxurens nerm SB501/551 1
147 4015004102 Hatsxnas raiika SB501/551 1
148 4011006101 ITpyxura SB501/551 1
149 5050106181 [MTait6a 5x18x1.5 SB501/551 1
150 5070304001 CronopHas mai6a 4 SB501/551 1
151 4011008101 [MTait6a SB501/551 1
152 5070303011 CromnopHas maiioa 3.5 SB501/551 1
153 5010242092 Bunr 4.2x9.5 SB501/551 3
154 3001015102 Kpeimka SB501/551 1
155 4011009102 VYrnopnas mwianka SB501/551 |
156 5010242652 Bunr 4.2x6.5 SB501/551 2
157 4015013101 3ammrHas mwiactuda SB501/551 1
158 4015001102 [Tamerr SB501/551 1
159 4018002131 3ammrHoe npucnacooaenue SB501/551 1
160 5040103091 mateka 3x9 SB501/551 3
161 4011003108 TopmosHas nenra SB501/551 1
162 5040204221 [mubka 4x22 SB501/551 1
163 4011011101 3amenka SB501/551 1
164 4011010101 [TpyxwHa SB501/551 1
165 3001036909 Pyuka Topmaza SB501/551 |
166 5070303001 Cronopnas maitoa 3 SB501/551 1
167 4011005103 [Tanery SB501/551 1
168 4011005101 [Tanerr SB501/551 1
169 5020908001 Kpsiika niernHoit 3se3mouku SB501/551 |
170 5020908001 I"atika M8 SB501/551 2
171 4007004108 TorwmHei nwtanr SB501/551 1
172 5040205241 [Tamerr 5x24 SB501/551 1
173 4007001201 TormBHeI QreTp SB501/551 1
174 5010339141 Bunr 9x14 SB501/551 1
175 4019007101 [Tait6a SB501/551 1
176 4013002111 [Tmanka SB501/551 1
177 3001039102 Brynka SB501/551 1
178 3001004314 Kopryc TormsHoro 6aka SB501/551 1
179 4013002112 Awmoprmartop SB501/551 2
180 4007010102 VYwioTHeHHe KPBIIKK TOmMBHOro0 6aka SB501/551 1
181 3001027202 IIpenoxpanurens Kpblky TormmBHoro 6aka SB501/551 1
182 3001008110 Bepxwsist kpbitka pykostku SB501/551 1
183 4007002201 TormBHeI hrwsTp SB501/551 1
184 4007005103 CronopHoe konbiio 6 SB501/551 2




Mopenb arperarta: SB501 (bensonuna 2,0 kBT /2,7 n.c. 49,8 cm3)

VILLARTEC SB551 (BeHsonuna 2,2 kBt /3,0 n.c. 54,5 cM3)
KoHcTpykTHUB.

185 4007004113 [nanar TormBHe SB501/551 1
186 4009005104 Brikmouarens SB501/551 1
187 4009003110 ITpoBox SB501/551 1
188 5040103241 Brymnka 3x24 SB501/551 1
189 5040103141 Brynka 3x14 SB501/551 1
190 3001032103 Hanpagssiromast SB501/551 1
191 3001032104 3axum SB501/551 1
192 4000011103 3y6uatsiii ynop SB501/551 1
193 3002002401 Mydra cuerennst SB501/551 1
194 4011004201 Pwruar npyxunsl Topmasa B coope SB501/551 1
195 4007007102 [a#i6a SB501/551 1
196 3002002401 Kppimka TommsHoro 6aka B coope SB501/551 1
197 3002000212 KpbpImika nernHoro xoneca ¢ pydkoit Topmasa B coope SBS( 1
198 3002000320 Craprep B c6ope SB501/551 1
199 4504001101 Brynka Tpoca ctaprepa SB501/551 1
200 4019009101 la#i6a SB501/551 1
201 4018002139 Pyuxa craprepa SB501/551 1
202 30010133106 Kpeimika ctaprepa SB501/551 1
203 4012001201 IIpyxxuna craprepa SB501/551 1
204 4012015116 Ik SB501/551 1
205 4012002107 BosBpatnas npyxuna SB501/551 1
206 4012010107 Xpanosuk SB501/551 1
207 4012003101 HInyp craprepa 3x1000 easy start SB501/551 1
208 3002000373 Craprep B c6ope SB501/551 1
209 5010605182 Bunar M5x18 SB501/551 5




